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(iv) TWISE - Y37 &I 18 UF 19 GIq-STTHT T3 8 | Tedeh I3 3 3HI T 2 |

(v) TUET — I GEIT 20 § 23 TF -3 TFR % T & | T J97 3 bl &1 3
T Y & I 80 G 100 F7ee] # forar ST I1faT |

(i) TUS T - Y3 &I 24 G 28 dF -390 JHR & I3 & | I3 J97 5 iF 1 8 |
37991 % I 120 G 150 sl T forat STH7 =nfey |

(vii) TUE T — Y97 G&IT 29 TF 30 FHITA-3TEMAT I3 8 | Iedh I3 5 S 1 & |

(viii) G IMAh, €I 3 foh VAT AT & 7T a7 a9 #te 37fa STeTia Iei &
T TR Qe 379 7 153 71 & | 39 91 o SR haled groanera gliemsff & ford |

(ix) I¥-94 § GHY [9ecq T8 1491 771 & | TR, @US & & Sl gl @uel & Fo Te §
371N forsheq o1 =97 a1 T 8 |

Eug <h

o HEAT 1€ 17 TGIaacdi TR & T & | 17x1=17

1.  Wd | gforg v oY smad FeferRad § o -t € 2 a2t foeme o1 =m hifve |

I. AEsas

. wERkE

III. =R sfrs

IV. Swafag

forehed

(A)  FHaa I, II 3R III (B) @Haa IL, 111 AR IV
(C) FHaAL I ARV (D) Fad I, I[IIRIV
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General Instructions :

Read the following instructions carefully and follow them :
(1) This question paper contains 30 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iii) Section A — Questions no. 1 to 17 are Multiple Choice Type Questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 18 and 19 are Source-based Questions. Each
question carries 3 marks.

(v)  Section C - Questions no. 20 to 23 are Short Answer Type Questions. Each

question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

(vi) Section D — Questions no. 24 to 28 are Long Answer Type Questions. Each

question carries 5 marks. Answer to these questions shall be written in
120 to 150 words.

(vii) Section E - Questions no. 29 and 30 are Map-based Questions. Each question
carries 5 marks.

(viit) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, map
etc. Such questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice given in the question paper. However, an internal
choice has been provided in a few questions in all sections other than Section A.

SECTION A

Questions no. 1 to 17 are Multiple Choice Type Questions. 17x 1=17
1. Which of the following are branches of Dravidian language in India ?

Choose the correct option.

I. Central Dravidian

II. East Dravidian

III.  South Dravidian

IV.  North Dravidian

Options :

(A)  Only I IT and III (B) Only II, IIT and IV

(C)  Only I, III and IV (D) Only I, II and IV
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et 3t o feg MU B | 3 SAfiepe (A) 3R R (R) | ST T b S 9iey
3R Tt forshed T = ShifsT |
371379 (A) : @IS T TOTERIT ST AT o st Sfcreirt Heer o S 2 |

FRU(R): S U aTel @IS, A UrET Tt @iASi shl et 3 H ae1 §
T STl & |

Folﬁh?q:
(A) (A I (R) AT H=T &, AR (R), (A) H Tt AT TET ® |
(B) (A) 3R (R) ST @&l & 3 (R), (A) 3l &l A& R |

©) (AT AR TEag|
(D) (A)TAdE, AfrT (R) &I E |

3. famfaRad 94 9 forass g <€ime — ATedt o S ageh o1 fAmior fomam a2
(A) 7 uss @red
(B) W USEHT HETHN STTereRtor
(C)  heir e fmfor forwmr
(D) TS Al T foramT

4. 39 & I UgAE o SEt sfew it T e & 7 fore =g o e | 2
(A) @ e o Tt 3T o gL &
(B) 9@ TeL 3 i S % L& T
(C)  Sferre fore 3 aféor o @ &

(D) SHEH T 3 3T U & T
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Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option.

Assertion (A) : There is an inverse relationship between quality and

quantity of minerals.

Reason (R):  Good quality minerals are less in quantity as compared to

low quality minerals.
Options :
(A) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(B) Both (A) and (R) are true and (R) is the correct explanation of (A).
(C)  (A)1is correct, but (R) is incorrect.

(D)  (A) is incorrect, but (R) is correct.

3. The road between Chandigarh — Manali was constructed by which of the
following ?
(A)  Border Roads Organisation
(B) National Highways Authority of India
(C)  Central Public Works Department
(D) State Public Works Department

4, Identify the area where lift irrigation is available in the ‘Indira Gandhi

Canal Command Area’ ?

(A)  Entire area to the right side of main canal
(B)  Entire area to the left side of main canal
(C)  Entire area south of Bikaner district

(D) Entire area north of Jaisalmer district
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e 1 shert faw T # | & wAfircher (A) ST FR (R) ¥ | T ket bt SIS TfeT

I T Torehew &1 =M HifSTT |

TRTHYT (A) : THA T STHEEAT o forawor 1 Ifoey 37cid STe # |

FRUT(R):  SHEEAT T forawor sifdes, |- STisies qem Ufagiiées it o
T AT Heferd 2 |

IECTR R

(A) (A 3R (R) AT ¥l &, TR (R), (A) T It AT 721 2 |

(B) (A) 3R (R) IAI HaEl & AR (R), (A) hl T AT R |

(C) (A TEE, AfFT (R) T ? |

(D)  (A) TS &, ek (R) T&T 7 |

6. A % eI ¥ 1Y WgW0T ! i e o fog frfataa & & srees suw
TEA hITTC | o8l ST ferehed T = Shiferg |
(A)  Toriea & w1y "reste giEsd
(B)  TgI XA o AT AU
(C) Hrua sl sE F "y g i
(D) @S s@ & oy for e

7.  UHd o & Fetaiad surml § o forad ot TR <t farshrarenss Tiiafatert
g AHE BIAT & ? e IUTH fehcq b = shiTsT |
(A) AT IUTH (B)  heIT9T 3UTH

8.  TEgforaT o S3W U W@ ¥ Y % S ATl FH1Y ok FohT T T&= HifaT |

(A) TR@EN
(B) TUUI N
(C) HEHRIHM

(D) foeqd anforsa ST H

9. oo WA i AR T o T H TN LA o A & He (4 &7 ohl g 1 |
(A) AR (B)  fedtas
(C) qdEsh (D) =qde
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Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option.

Assertion (A) : India has highly wuneven pattern of population
distribution.

Reason (R): Population distribution is highly associated with physical,
socio-economic and historical factors.

Options :

(A) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(B)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(C) (A)1is correct, but (R) is incorrect.
(D)  (A) is incorrect, but (R) is correct.

6. Identify the practical measure from the following to control air pollution
in the metropolitan cities in India. Choose the most appropriate option.

(A)  Public Transport with Ring Railway
(B)  Carpooling with Metro Rail

(C)  Metro Rail with CNG Buses

(D) Ring Railway with CNG Buses

7. In which one of the following approaches of human development are
human beings the targets of all developmental activities ? Choose the
most appropriate option.

(A) Income Approach (B) Welfare Approach
(C) Basic Needs Approach (D) Capability Approach

8. Identify the type of agriculture predominantly practised in the
Australian Downs.

(A) Mixed Farming
(B) Plantation Agriculture
(C)  Co-operative Farming

(D) Extensive Commercial Grain Cultivation

9. Identify the sector concerned with the work of converting raw materials
into finished products.
(A)  Primary (B) Secondary
(C)  Tertiary (D) Quaternary
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10, i fosh wef it gocye Rt 3 & R SR STARC S SHTEOT 7
(A)  TrHior fague e (B) Y AU
(C) TR foror g (D) HIH HAUR

11. g 3 fom & wef § freforfiaa & 9 -ar aei 2 2
(A)  SFIFfg IR forshre 2R e B & |
(B)  Jfg SFITcH AT FROTTCH &1 Wkl 8, T forehTel SHTIT 9Tesh BraT & |

(C)  forehTa gATcHe AT HUMcHe & Hehell &, T Jf6, ST STeH aiell & |
(D) 2T gfg 3TN forsh eTeHe: 3T FomTeHe & Tehd ® |

12. f=fcfigd # @ FH-A1 Sl HiaT U 1 IR0 S ?
A) e Fuares (B) S ok
(C) frere (D)  sfET e

13.  hictH-1 T shictH-11 ¥ e Shifs 31t g foehew st == hifsmo |

FicTH-1 FicTH-11
@TE 3 & ) (fererard)
a.  @Hdl i, wft SHfehal ol e Taree glaumd
& AT
b.  Had drvfEar i, Gme R At Aot
c.  ScqTeehdT iii. e diet st 3T el difeat & foe
forehedt 3T ST sl SUSTSEAT hi
gifaa
d.  GTieRIeROT iv. ot ot ST it T

IEETS

(A) a-iv,b-iii,c—1ii,d—1
(B) a-iv,b-iii,c—1i,d—ii
(C) a-iii,b-iv,c—1,d—ii

(D) a-iii,b-iv,c—ii,d—1i
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10. Automatic vending machines and the internet are examples of which of
the following types of trade ?

(A)  Rural Marketing Centres (B) Wholesale Trading
(C)  Urban Marketing Centres (D) Retail Trading

11.  Which one of the following is correct about growth and development ?
(A) Both growth and development are always positive.

(B) Growth may be positive or negative, but development is always
positive.

(C) Development may be positive or negative, but growth is always
positive.

(D)  Both growth and development may be positive or negative.

12. Which one of the following is an example of ‘Gold Collar’ professional ?
(A)  Policy Formulator (B) Bank Clerk
(C)  Teacher (D) Insurance Provider

13. Match Column I with Column II and choose the correct option.

Column-1 Column-11
(Pillars of Human (Characteristics)
Development)
a. Equity i.  Providing better health facilities to
everyone
b. Sustainability ii.  Good governance and people-oriented
policies
c. Productivity iii. Each generation must ensure the

availability of choices and
opportunities to its future generations

d. Empowerment iv. Equal access of opportunities for
everyone

Options :

(A) a-—iv,b—iii,c—ii,d—1

(B) a-iv,b—iii,c—1,d—ii

(C) a-iii,b—-iv,c—1,d-ii

(D) a-iii,b-iv,c—1ii,d—1
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14. e framepaat st Frfofiad forisdrsTt &1 eamqes qigu 31 wel foehed i ==
ife |
I e Sramemaat & aff yebr st dard wftafera ard & |
II. SR, IHEET 3R GaR qaaeh fShamshardr o 9T |
1. ek fohamenatTdl § shodl HTt oh IR 9Tl § qiEfdd fohaT ST © |
V. e, gehiet 3 Smart qeftares framehad o %@ e & |
[EET
A)  FEAL AR &S
(B) AL, I HARIVERIE |
(C) FaAl, [IRIVET |

(D) e I1, 1T IV e & |

BT Pl CATYE qIgT 3R 1< 1aT 71q 399 §&A1 15§ 17 % I T |

Ha AT <h et
ST & AAAELTAT bl G T 1 Yo SATIR AT ST ITRIHLT o TG 8 FHT ST | T8
T AT T S8 AT Yoo i Tt 6T ST € | B¥e] el Ud aratt § gfceast s o
T ST SETHREoT Bt oI & SRt ST BTl o foIg STAfd JaT T |
HSHAHROT AR Aok AR foehrarefier S2m ol refegaeenstl sl 31 W Afdshet oiud §¢ a1 3=
eI o WA 3O 7 oht ST T8 & THTI L Tehd & | TR Td Ho 3 o e o arer &
TEIE T HATE vEet S SAUET Aol & U GO &1 4% U5 "ok @ | foh Wk SATIR I kAt
"= IR0 o ST & AR 6T S T8 & ST <A, Ffoeh Taehied SR 1 =AY ok o 370 T o
SIS b ferreft Scamat & weferd T |
Tt At U AT TS RGN A Tefoh Lo shl TR &, Fi{oh eh AR 6 AT 36 Toh hl Tl
T 6T S hT 15 SRU B IcUTEhT ! THET Tg T Fohe & |

15. FHATIRad H & ford o ST o &9 H ST ST 8 ?
(A)  SATIR SRR
(B) MR ¥fqey
(C) =AUTHA
(D) AT T FT=T
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14. Read the following characteristics of tertiary activities carefully and
choose the correct option.

I. Tertiary activities include all types of services.

II. Trade, transport and communication are parts of tertiary
activities.

III. Raw material is transformed into finished goods under tertiary
activities.

IV. Teachers, lawyers and traders are some of the examples of tertiary
activities.

Options :

(A)  Only I, II and III are correct.
(B)  Only I, IIT and IV are correct.
(C)  Only I, IT and IV are correct.
(D)  Only II, IIT and IV are correct.

Read the passage carefully and answer the questions no. 15 to 17.

Case for Free Trade

The act of opening up economies for trading is known as free trade or trade
liberalisation. This is done by bringing down trade barriers like tariffs. Trade
liberalisation allows goods and services from everywhere to compete with
domestic products and services.

Globalisation along with free trade can adversely affect the economies of
developing countries by not giving equal playing field by imposing conditions
which are unfavourable. With the development of transport and communication
systems, goods and services can travel faster and farther than ever before. But
free trade should not only let rich countries enter the markets, but allow the
developed countries to keep their own markets protected from foreign products.

Countries also need to be cautious about dumped goods; as along with free trade
dumped goods of cheaper prices can harm the domestic producers.

15. Which one of the following is called ‘free trade’ ?
(A) Trade liberalisation
(B) Trade restriction
(C) Trade value
(D) Trade quantity
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16. T SATIR T Gedt 3Tfereh Wfciepet wirar fefoifiea & & forer wmouear & 2
A) TR e
(B)  forshrerfiet <z
(C) 2T tea-fopfaa qan fomsfaa awr
(D) 3T forsmfera e forepmertte

17. SATIR W UiEs 3R SR & foshm &1 frefafed § @ -1y & 2
(A)  FEGHAT I YA BT sl STEHT
(B) gl I AT T G b SATTHA
(C) ST 3T UaATAT 2T lsT T L oh AT
(D) T & forIy & sigat drtarefere!

Qs @

97 &7 18 UF 19 Fla-3TemRa I3 2 | 2x3=6

18.  fIU I sr=ae #t e afey 7R 38e e fa 7 wedt & S e
“TET TETIT — AT UGTST”? ATHTISTeR U &
T WX oh Ui HAGAITeAdT i sTgrar

TS T TS qw, Aiear I giEsiet 3§ SThiieh I Sifeh ®9 § AT ST § |
AR, TS o HOTS Heloh ToTT, STT-3THT ikt et shadm & 3 3 yifierd foe &
AT HEAT3T ST Y36 L & STt & | ST8eh Soreaey, 3 SAfosh fafi=ard |rmtses
VW, S qAT TSR HT TR o9 STl & | AT O SATT STHEHGAT T ST
forett +ft fereprersfier iR wvar Wt o fore wek it T 2 | o1 woh aftask T 2,
foreen! €<k g forerme risen (UNDP) o 89 | foram 2 | g, o s1gem
“gfq forbrar o wvft St wftwfar =2t &, dr war o gew™ @ (HDR UNDP
1995) | G S 4 foret oft Tohr T WevTa 3T iy &9 @ Set & TR W Hewd,
T o 9 Th 3T |

e o} o T fRre, s, Teiferes SafAfeea & @9 319e), 999 %1 & fau
U o, TTIHT oh GT S{e St okt 378X T b1 e, 58k forg i s fore
ST 2T SATSRRAT & | S AHTS] 57 AWt HawTe oot S5 bl gL L oh folq TuTelt shewy
2T 33T ®, I8 Uk G GHTST &1 el ST Hehall | WA TR o 37 Tt sl 63719 | oid
U YT WG ¥ B aTct QW 1 T § T §U U T 9T “oi] st — ot
TRTIT” WIS TR AR |
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16. The most adverse effect of ‘free trade’ is observed with which one of the
following ?
(A) Developed countries
(B)  Developing countries
(C)  Both under-developed and developed countries
(D) Both developed and developing countries

17. Which one of the following is the impact of the development of transport
and communication on trade ?
(A)  Goods and services travel faster
(B)  Goods and services move farther
(C)  Goods and services travel faster and move farther
(D)  Better connectivity only in a region concerned

SECTION B

Questions no. 18 and 19 are Source-based Questions. 2x3=6

18. Read the given passage carefully and answer the questions that
follow :

Promoting Gender Sensitivity through
‘Beti Bachao — Beti Padhao’ Social Campaign

The division of the society into male, female and transgender is believed
to be natural and biological. But, in reality, there are social constructs
and roles assigned to individuals which are reinforced by social
institutions. Consequently, these biological differences become the basis
of social differentiations, discriminations and exclusions. The exclusion of
over half of the population becomes a serious handicap to any developing
and civilised society. It is a global challenge, which has been
acknowledged by the UNDP when it mentioned that, “If development is
not engendered it is endangered” (HDR UNDP 1995). Discrimination, in
general, and gender discrimination, in particular, is a crime against
humanity.

All efforts need to be made to address the denial of opportunities of
education, employment, political representation, low wages for similar
types of work, disregard to their entitlement to live a dignified life, etc. A
society, which fails to acknowledge and take effective measures to remove
such discriminations, cannot be treated as a civilised one. The
Government of India has duly acknowleged the adverse impacts of these
discriminations and launched a nationwide campaign -called
‘Beti Bachao — Beti Padhao’.

64/711| # 13 P.T.O.
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(18.1) HHTST WX AfiTeh WewTer o fehel Teh GSwTer ohT [0 AT | 1

(18.2) “afe forerre o |l St wftnferd & &, a1 wa forehra eau™ € |7 56 o
ST FHINT | 1

(18.3) ‘ST SATAT — sIeT TGTHY AU o T IeAT hl ARG HITT | 1

faq 7T formt o egEeh ST HIfNT 3 38ek i fau 7 et & I A |

(19.1) T <t w8 @ i fafert o1 Sea@ hifse | é+é=1
(19.2) To=r ¥ fow mu @ <t <1 fafer o sfiwr 3far wuse Fifse | 1
(19.3) -8 @ fafer sfia & forg aferes wawmes § 2 1

freferfiaa se Fact gisaTiera udtermiefal & forg yv7 61 19 F T W E |

(19.1) @ Yo sh! TRATNT hIfSIT | 1
(19.2) T I IAIMAG@HFA TR TT RS ? 1
(19.3) @ 1 2 ffrit &1 seere iR | é+é=1
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(18.1) Describe any one ill-effect of gender discrimination on a society. 1

(18.2) “If development is not engendered it is endangered.” Explain the
statement. 1

(18.3) Explain the main objective of ‘Beti Bachao — Beti Padhao’
campaign. 1

19. Study the given figure carefully and answer the questions that
follow :

Open-Cast

(19.1) Mention the methods of mining given in the picture. é +é =1

(19.2) Differentiate between the two methods of mining given in the
picture. 1

(19.3) Which mining method is more life threatening ? 1

Note: The following questions are for the Visually Impaired Candidates
only in lieu of Question No. 19.

(19.1) Define the term mining. 1

(19.2) Why are developed countries avoiding mining in their own
countries ? 1

(19.3) Mention two methods of mining. é+é =1
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Tug T
¥ GEAT 20 § 28 TTT-IHIT T8 | 4x3=12

20. (%) foma#d smyfes fafmior et o srawm faawo & gq@ Frot s e Hifve 3

areraT
(@) 30UE % ITIR W AW I Fficha ST Ta k! fermaraedl &t smea
Hifsm | 1+2=3
21. “HAd GINUT o AT SThiaeh HETEAT W Yeae ®9 ¥ T & |7 STt afed 39 e
T ST HIT | 3

22. Tt arfes 1 emgeEs serm Hifvm K 38 A= fo T g % 3w
i |
YR — TIRIHT &1 TFfaar

Y T /TR TR SHEET | o SHEEA | ¥ dig
Gpedl hl T& (F5I ) H % (%)
1931 2,072 33,4560 11-99 19-12
1941 2,250 44,153-3 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 2571 36-47
2001 5,161 2,85,355 27-78 3113
(22.1) 1951 I QT H, 1991 H el SHETEAT o AT H feheHT e 2 ? 1
(22.2) S IS ATfeTehT H TR SHEEAT 3hi ST T FUM HIfST | 1
(22.3) 1961 & 2001 T TR/ Fel hl T H g, 3 TG % HIT H T
IS | 1
23. ST T UM 1 TRATYA SIS | Wi | eRrdetts STet sht qurert # fiRrare o shron
T STEAT HITC | 1+2=3
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SECTION C
Questions no. 20 to 23 are Short Answer Type Questions. 4x3=12

20. (a) Explain the main reasons for uneven distribution of modern

manufacturing industries in the world. 3
OR
(b)  Classify the industries based on product and explain their
characteristics. 1+2=3
21. “Humans are directly dependent on natural resources to sustain them.”
Explain the statement with examples. 3

22, Study the following table carefully and answer the questions that
follow.

India - Trends of Urbanisation

Year Number of Urban Population % of Total Decennial
Towns/UAs (in Thousands) Population Growth (%)
1931 2,072 33,456-0 11-99 19-12
1941 2,250 44,1533 13-86 31-97
1951 2,843 62,4437 17-29 41-42
1961 2,365 78,9366 17-97 26-41
1971 2,590 1,09,114 19-91 38-23
1981 3,378 1,59,463 23-34 46-14
1991 4,689 2,17,611 25-71 36-47
2001 5,161 2,85,355 27-78 31-13
(22.1) With reference to 1951, how much change has taken place in the
percentage of total population in 1991 ? 1
(22.2) Describe the trend of urban population in the given table. 1

(22.3) Explain the reason of increasing trend of number of towns/UAs
from 1961 to 2001. 1

23. Define water quality. Explain the reasons of deteriorating surface water

quality in India. 1+2=3
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9 G&IT 24 G 28 S -SHIT T2 | 5x5=25

24. () “9RA W TRIT g Gmrioren-aniden, Tefas-aieiie v famm % o=
Hehden! o foRET 3771 &1 ShT STUET el ATae fafereaarqu & 1”7 3STeTon o @

T Y T Hed T HITST | 5
HYAT
(@) “HE-STHA SToRaTaTt 3 Hror - FFfshor Srehfdes Sforamatt i qomr § s
it =1 forwer @ 1 SaTelt Wfed 39 o T Hex i SHIfVT | 5
25.  Nd % T hl GEEHT o deaid TqHT bl SIREAT ShifST | 5

26. (F) A % GIA F HATGR W AT HY TG B JAThd HISY S IR JUH
HINT | 5

HYAT

(@)  ETHT HURT HHTEA Rl AR HIT | | Huer Heres fore SeRr it

S i foRETT ohT STTSTTIRT SaM Shid & ? SATEAT ShIfNTT | 1+4=5

27. (%) fova o SFEEE faawor s v s aTet ekl shi SATEAT STy | 5
HAYAT

@) YA’ St g HIST | SHEEr Jare & TuHy e Afaey HRent § 3T

T HIT | 1+4=5

28. (F) UR-HASI IGET hit faivared i s=men fifve | 5
HAYAT

(@)  UR-HES T Hn 6t foraret i sare Hif | 5
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SECTION D
Questions no. 24 to 28 are Long Answer Type Questions. 5x5=25
24. (a) “Urban centres in India are more differentiated in terms of the
socio-economic, politico-cultural and other indicators of
development.” Evaluate the statement with examples. 5
OR
(b) “The land degradation due to man-made processes has greater
concern than natural processes.” Evaluate the statement with
examples. 5
25. Explain the changing patterns of the composition of India’s import. 5

26. (a) Classify Indian farming practices on the basis of source of moisture
and describe them. 5
OR
(b)  Define ‘Common Property Resources’. How do ‘Common Property
Resources’ help in providing livelihood to the landless and

marginal farmers ? Explain. 1+4=5

27. (a) Explain the factors affecting the population distribution in the
world. 5
OR

(b)  Define ‘migration’. Differentiate between pull and push factors of

population migration. 1+4=5

28. (a) Explain the characteristics of “Trans-Canadian Railway’. 5
OR

(b)  Explain the characteristics of “Trans-Siberian Railway’. 5
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WUE
97 G&IT 29 TS 30 FHIH-3TITHT JI7 2 | 2x5=10

29. feu T fove & Uit WET-AmRE (I8 25 W) H, 9rd Himias d&ei @ A, B, C,
D, E, F 3R G % &9 ¥ sifera foam mar % | Frfeiaa Seprt it gemmar & et
Qi S U&= hITSTT 3T 37 Hel T 3eh T it 18 et w fafau : 5x1=5

T STE WA

RSEL IR KR

RT3 Yot 3 3ifaw f 1 ueh wem

T T STHTT

TS TRTE T T U &

TCTATE T T T &

gfeFor STHERT T U THE THaT a0

@ 3 H U Q"W

qe :  HIREA T Fa GIEETIEa qdeniea & g 397 G&T 29 % € WE |
fAferfaa 7 @ fo-a1 aier 3941 & I fora - 5x1=5

(29.1) Wi o T TG VAT T T A9 [T |

(29.2) STeAUT 3TSHISHT o IW T T AT [TRIT ST&T Teh SR I I 1Hd 2 |
(29.3) UR-HTSSITE (T o Far Qalt Sifaw L o w3 o1 am fafaw |
(29.4) 3T T o6 TH@ H{ ek SIHT ohT AT fIfag |

(29.5) ATEfera o forea anfuTfsares 1T iy &t o1 1w forfaw |

(29.6) LT I TFTAT 5 ITHY WIT H FTATE T[T &1 T T faRae |
(29.7) ST % 30 T 7 A fARGY &1 Toh ST a1 v o 2 |
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SECTION E

Questions no. 29 and 30 are Map-based Questions. 2x5=10

29. On the given political outline map of the world (on page 25), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. A major sea port

B. A major airport

C. A terminal station of Trans-Siberian Railway

D. An inland waterway

E. An area of commercial livestock rearing

F. An area of nomadic herding

G. A major sea port of South America

Note: The following questions are for Visually Impaired Candidates only
in lieu of Question No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name a major sea port of England.

(29.2) Name a place in South Africa where an international airport is
located.

(29.3) Write the name of the easternmost terminal station of
Trans-Siberian Railway.

(29.4) Name the major inland waterway of North America.

(29.5) Name an area of extensive commercial grain farming in
Australia.

(29.6) Write the name of an area of nomadic herding in northern parts
of Europe and Asia.

(29.7) Write the name of a place in Brazil where an international
airport is located.
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30. feu U wra % TSI WEr-AmtE (8 27 W) #, fefafed aa Simies o o
O fopeel gier o1 SWIeh gt g 3iferd hifSr 3 3k 7w fafa 5x1=5

(30.1) Gk SFEEAT gcd Tl TSY

(30.2) TeST IcUTEH T Ueh JYUIT T[T

(30.3) T HETrSg H feord wewIqul cite 3areh @
(30.4) RIS # R HEweqUl el @
(30.5) TSI H U T S 0N

(30.6) TSI H T RIS &S T

(30.7) IT IS H Ueh qATNET HREHT

qie :  HEfcTRad T et GreaTiera qitenieral & 1o7q 337 G&1 30 % T W3 |
freferfiaa & @ fareel wier yo1 3 IR ST 5x1=5

(30.1) Haereh SHEEAT ¥cd a1 TS T A4 foTlay |

(30.2) <ITaT 3cUTe oh 3TN U= o1 918 forfay |

(30.3) W T 1 A1 {oTRQ STl A Henrsg § wewequ wile 37%eh Wi Lo € |
(30.4) 39 T 1 A fARAT STt AftrerTg & TewEu shiae @ R € |
(30.5) 39 T kT A1H fARIT STl o § e T wst ue R 2 |

(30.6) 39 T T T fARGT STt Uitel # Wk Hauisg iy a1y oo o & |

(30.7) 39 TAM 1 A fAflay Sref Iov yewr A Uk daeie shr@HT a2 |
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30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate
symbols : 5x1=5

(30.1) The state with the highest population density

(30.2) The leading rice producing state

(30.3) Important iron ore mines located in coastal Maharashtra
(30.4) Important coal mines located in Tamil Nadu

(30.5) A major sea port in Gujarat

(30.6) An international airport in Punjab

(30.7) An oil refinery in Uttar Pradesh

Note: The following questions are for Visually Impaired Candidates only
in lieu of Question No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state with the highest population density.
(30.2) Name the leading rice producing state.

(30.3) Name the place where important iron ore mines are located in
coastal Maharashtra.

(30.4) Name the place where important coal mines are located in Tamil
Nadu.

(30.5) Name the place where a major sea port is located in Gujarat.

(30.6) Name the place where an international airport is located in
Punjab.

(30.7) Name the place where an oil refinery is situated in Uttar
Pradesh.
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99 TE&AT 30 o foru For question no. 30
T Outline Map of India (Political)
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